Honors Precalculus *16-17 Name
Trig Basics

Part I

NO CALCULATOR ALLOWED

Round to 3 decimal places. Show all work

1. Fill in the coordinates from QII of the Unit Circle and the Table Values from

: D) Radians | Degree | Cos Sin
C8) o 1|0 q O
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2. Find the exact value of the following:

(a)  3sin? 7—+ 2082 — 7”

23((“\ Z(’L\r——*- :’%

62’3“ 25342

J’§
= (A EN
(b) sec6tan3+cot3csc (
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a. 0.50 b. 0.71 e. 086 d. 1414 e, 0.67

2, Which of the following is a unit vector?

a. —li+j b. 0i-0j c. 2i-7
2 2
o vely 33 (> 2735 <=
S % BB
3. In the triangle shown, which of the following best approximates 5?
25
; b
— —Kos do°
40° s
b

a. 16.07 19,13 c. 20.98

d. 32.64 &, 38.89



4.. If f(x,y)=tanx+tany and g(x,y)=1-tanx-tany, then, in radians, ==

g(2,1
a. 0 -0.14 c. 158 — Thu2 + Ml
d. 0.15 e. -1.56 | - Trn 2T |

5. In the figure below, cosy=

. k 71—k V49 — k? V49 - k?

?
0. An incline makes an angle of 30° with level ground. How many feet qp,ihé. -
incline must one go in order to rise 20 feet above the ground? J 20!

a. 10 b. 20 e 2043 40 8. A0B

e What is the measure of an angle whose sine is twice the sine of 45°7?

a. 30° b. 60° C. 90°

d. 1207 No such angle
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1. (4, —5) is on the terminal side of 4. Find the six exact trig values:

Sl""‘ﬂ.i: (=Y

. ol - @
sinA = 71 cscA=  —
cmd= Vi secA= Ju /o
tanA = "S'/V COtA== - L}/_)

2. If sinB=3 ] in QII, find the other five exact trig values:

2 2
X +G4 =pv -
sinB=3 cscB= 75/3
% N P
coiB= *‘E:’/% secB= — 9 o
tanB = "'?é’i cotB== ‘—% _ET%

3. What are the approximate values, in degrees of 4 and B (from #1land #2)?

A= —K(,34) £3¢on

B= |5t Q1L 2600




4. (a) Find the approximate values of:
Cos-38= , 455

Sin -246°= , LY

Tan 5.36=71.322

Sec-.347= L. 063
Csc5.36°=10.F0S

Cot12= —1, S 73

(b) Find the approximate values (in degrees) of:

Cos-1 .705={ €5 1l T3Con Sin'l(-1.345)={ K& Sscunied

%6’%.) +340n
Tan-1 2.758= _ |

Lso.oFe 36N
oL FO.0Fe t 1O

Sec-1 1.982={ 89 649 1 36on

Csc-1 -.362={ No 5ufu?1w



-9 A boat sails 53 mph at a bearing of 213°. The current flows 7 mph at 54°.
Find the magnitude and bearing of the resultant vector.

SS 5213 + 58 s T ?i
D pos FHC & T S04 #1g

— Lo 335°C - 2%«203\?

(?“\: i 45.336* 423 203" = 46 533

b= - co<” (qu'%b ): - 12,6
p= i Gl 535

6. Identify the quadrant and reference angle of :

a) 965° o 1 6,,= 6<°
b) -732° Q_ I\ 6, = 12°
¢) -1614° o I .7 6= b

dy -572° g L. 6 . =3)°



